OO0 gupiaozhishiba.com

Jbobogtbbbtotdtbottdbootdbototdun
-t

Joooogodod

0o ooobobobobbboddo oo =0b0booo+*xmod
UO00dubo-u0dddddn=4%+1.25*1 14%-4%0 =16.5%
ogduobobobbooogd1es»n20oooogn
Joooobuooobooogd
OoOo00D0OD0OoO00=00000000=24/0 1+16.5%0 =20.6
oddobbobogog2ed o0 =00duou=0uooog-
OoOooooo/0bodbob bbb booobobooobon
bbbz ddd20*1.165=23.30
DD00000000=024-2330/233=3% 00000 00000000000
oodoobobbogooooobobgd
Juobggoboobouooboood

oooogogg

oo oobouooboo

Jogoododbooogboon

oboggbob=udbob+ggbobo+goboobouobobgd

Jogbogbooguogogn

Oooobboboodooooo=n0o00/0o={pouo-ogo*xub-obooy
/0D00*00+0000000000 (stock
yeld) D ODODOOooooooooboboobobooouooooood

oo1/5



OO0 gupiaozhishiba.com

oo uoouooood
Jobodgbouooboobougobougoogd
bbb oobuobboobouoobd
Jobodobbooboooboboobouobbooood
Joogobboobouoboboobouobobooonod
Oooobob=000/ bbb uboboboboobooog
Joogobboooboobuobobtoobuobboobuobboooga
ooon
10gobboobogobboobuobboobuobboobuobboo
Joddobbbuggooobbuooooooobbgoooooobbod
ogdooobbogoooooon
ggguoubbbuooooobbuooooobbbuoooobbn
guoougobogon

bbbt boobouoboboooga
oot btobouobboobuobboooga
oooogon
Jobogobobooobooobouobobboobouobboobouoboboooga
Jobogooboooboobuoboboobuobboobuobboobogao
Ooon
sgguuububbuogououobbuoooobobobbouooooboobn
Jooggboboobouogon
Joddobbbuggooobbuooooooobbgoooooobbod
oodobbbudggouoobbuoooooobbgoooooobbod
ogdoubbodogdaoobbouooooobbbouoooooobb
bbb ooouoobd
OoooooOoOobooddog@uoo)yoooooboboobobbboooooooo
ooggbougobd
Jobodoboboobtoobuobbbobuobboobuobbooboga
googd

ooooooo@ooo-uggog)yuobbobbbbooooooo
oopooo=000/00000
Oo0o00o0oo0=00000+0000~(O0o0bOOo+0b0o0o+00)

gogboogotdbotgbogbon

obggbboobuobboobuo=0buobb+gobbd
Jogdobbbbogoooooobogoooag

oo2/5



OO0 gupiaozhishiba.com

Juobdgbobobouobbguo=t0buobu+sgogouoobuoob-gd
Ooooo* 0o ooobobooooog
oougoogd
Jioogobodobuooboobouobbobuoboboobouobobd
ooogo

ooggbboobouoboboobgobob oo oooooo
Joogobboooboobuobobtoobuobboobuobboooga
Joogobooobooobouobbooboobboobooab
Jobgobbooboobboobobtoobuooboboooan
Jz20dooobugogoouobobbooooooobboooooobn
ogooobobbuooooooboggad

3o ubbbuoooooobbouooooobn
ERERN

bbbt boobouoboboooga

Joogoogoubooogboon

Oooooobooooooooo=n0o00/00={pouo-ogog*x0o-ooo}
/000*00+0000000000 (stock

yeld) DO ODOOOoooooooboboobobooooooood
Joogobbooboobbooooobbooobod
Joobogobuoobobtoobooobuoooogd
Jobgobboobugboboobuobboobuobobd
ogoobbbodogoooobuoggoooon
ogdobbbodogooobobuoggoooon
ODoOod0=000/00b0000bb0o0obboobobuooooboog
oo boobuoboboonogao
oo
oo oobuobboo
Jobodoboboobtoobuobbbobuobboobuobbooboga
Jooogboooooobouoon
ojguuoububbuoguououbbuoooobubobbouooouobobn
oogoobooon
Joogoboooobtoobuobobtoobuobboobuobbooboga
obogobbooobtoobboobobtoobuobboobuobbooboua
ooooon

0o 3/5



OO0 gupiaozhishiba.com

oo boobuoboboonogao
bbbt boobouoboboooga
oo

oo uoboobbuooouooon
Joogoboboooooon
Jobogooboooboobuoboboobuobboobuobboobogao
Joogobboooboobuobobtoobuobboobuobboooga
Jobogobuooobotoobuobbooboobbobobtoobuoobobd
Jobggbb4adbuoobtoobuobbtuobboboboobuobbd
ODoOoooboooboboo@ooO)yYoobobooobuooobbooooboo
ogoooobogd
oddobobbudggoobbbooooooobbbuooooobbod
googd

Ooooooo@ooo-oogo)y/oobobobobboooooon
Ooooo=000/00000
Ooooobo=00000+0000-(oooo+0ooo+0dn)

Jooboogogouodod

000000000000 0000000000000000D0=500000
00000000050000000000000000 D1=D0*(1+5%)=5*(1+5
%)=5.2500 0 O O P=D1/(R-

9)0 52.5=5.25/(R-5%) 0 O 10=1/(R-5%)0 0 0.1=R-5% 0 R=15%0]

oo

Jooooooooodoooonn.pdt
oo

Jooaooooooooin
Jooooooogoon
Jogooooogooin
DO000000000000000i.doce
Uoodooooodoooooooooioon..,

0o4/5


/neirong/TCPDF/examples/output.php?c=/read/37134977.html&n=股票的必要收益率怎么计算公式.pdf
/read/8815.html
/read/8997.html
/author/9330.html
/article/9397.html
/neirong/TCPDF/examples/output.php?c=/read/37134977.html&n=股票的必要收益率怎么计算公式.doc
https://www.baidu.com/s?wd=%E8%82%A1%E7%A5%A8%E7%9A%84%E5%BF%85%E8%A6%81%E6%94%B6%E7%9B%8A%E7%8E%87%E6%80%8E%E4%B9%88%E8%AE%A1%E7%AE%97%E5%85%AC%E5%BC%8F

OO0 gupiaozhishiba.com

oo
ooggoboon
oogoobooboooobgd

https.//www.gupiaozhishiba.com/read/37134977.html

0os5/5


https://www.gupiaozhishiba.com/read/37134977.html
http://www.tcpdf.org

